2021.2.26

in 44 EEHh H= BT =iE thiE ZiE RFEX R
N AR mE 160 1 166 130 121 Y
ZIE5 EE 40 1 0 454 0 )
FO5NAE mE 1450 4 1188 432 324 )
F (= 319 3 1620 1296 972 )
LwA=< mE 77 1 432 0 378 Y
T DL mE 254 1 270 216 189 )
LAX mE 650 10 1620 540 216 )
] mE 149 1 1296 270 216 )
MhALL ES 285 5 1706 1685 1404 §eA))
AEF (= 339 1 1944 1836 1620 )
HHA mE 4140 10 3521 540 108 )
*—JI (= 125 1 127 108 84 )
J\ ¥H mE 740 10 2484 983 961 Y
X B S AT 1540 1 306 248 238 )
e EE 135 1 173 97 76 §eA))
e = 555 1 190 97 86 §ea))
Z DA (= 150 1 187 187 140 Y
= EmE 1321 0.2 1507 216 183 Y
i 4 EEHD = BT =iE hiE Z{E RFEXS

WA ‘e 3475 10 1188 864 702 Hxt
s EE 40 1 0 76 0 Hxt
FEIZALA AN 210 10 2484 0 1836 %t
FEIZALA K& 380 10 2700 2592 1944 e it
FEIZALA HEAR 180 10 3240 3024 2916 izESH
FEIZALA BERE 590 10 3240 2916 2808 A xt
FEIZALA Z Dot 260 10 1188 0 972 GizEol
mFH) AER 4 1 0 1026 0 B>t
f=lTDZ i 12 1 0 1242 0 B>t
NAZA ‘e 702 1 972 713 259 GizEo]
NAZA =) 140 1 0 248 0 GizEol
[F<E0Y RI& 1200 15 1026 864 864 B>t
FrRy EmE 6310 10 648 648 540 B>t
h = LB 3 3 0 3564 0 B>t
h = LB 24 3 2268 0 972 B>t
fa = mE 40 3 972 0 907 GizEo]
= Xy 120 1 0 540 0 GizEol
= GallES 12 1 0 468 0 A xt
HDIE = 53 1 1728 432 432 B>t
1z 5 = 230 1 648 562 562 B>t
F5 il 20 1 389 0 378 GizEol

T AINSHR EE 5 1 1620 0 1404 B>t
Jayal)— EE 630 10 2160 1800 1440 FE ¢
T 12 6 1 0 1037 0 B xt
\t) Eedea) 5 1 0 756 0 B>t
H——LARA =] 60 4 1404 1188 1080 A xt
H=——LA2X iﬁ% 44 4 1404 972 972 GizEol
S5l = 633 5 1620 1512 1242 B xt
ZpoY .—,%n 80 5 2093 0 2025 B>t
B I —a— 390 10 0 1620 0 B>t
A S A0 10 5 0 1512 0 A xt
~Tk =] 328 4 1026 972 540 GizEol
E—<2 =] 90 1 684 540 504 A%t
E—<> =0 14 1 0 684 0 R %
LLES = %0 12 1 1944 0 1728 B
g S FErLL 30 0.2 0 158 0 EES)
I=kTh EE 119 0.2 130 119 108 R >t
S=kTh HER 90 0.2 115 0 94 RE %of




=PVAIFA A<= 2 1 0 729 0 GizEol
SPXAES BRE 4 1 0 1944 0 GizEol
MNAL & R 15 5 0 1404 0 GRS
MALE mE 110 5 1944 1620 1080 GizEol
[EFh Lk itiEE 1080 10 2700 0 2646 GizEol
(EFh Lk BRE 10 10 0 3456 0 GizEol
=g mE 10 1 0 0 0 GizEol
-FEhE tiEE 40 20 0 1620 0 GizEol
-FhE ‘e 48 20 4752 0 3844 A xt
-FhE =g 20 20 0 3888 0 GizEol
-FhE RI& 500 20 0 2808 0 GizEol
A=K h F 10 1 0 389 0 GizEol
A=K t E 70 1 356 0 270 GizEol
L&OH =0 10 1 918 0 837 GizEol
L&OH h F 40 1 0 419 0 GizEol
PEIVE] ZH 1 1 0 3780 0 GizEol
PEIVE] AN 18 1 4320 2700 2700 GizEol
PEIVE] =) 3 1 3890 972 972 GizEol
PEI/E] X 127 1 14040 648 594 GizEol
PEIVE] N 4 1 4320 0 3240 GizEol
DEMEE 5 45 1 0 778 0 HExt
LHL EI 9 1 0 756 0 Bt
LHL 2] 6 1 0 432 0 A xt
HELLM=1T (=) 1831 0.1 119 81 78 GizEol
ZDELET =2 12 1 0 286 0 GizEol
ZDE1ET £ 48 1 0 297 0 B>t
ZRED 2] 4 1 0 864 0 B>t
EYS ‘e 98 1 335 0 173 A xt
Z D EFE (=) 0 1 0 0 0 GizEol
FFEMI G I 2 1 0 6480 0 GizEol
FFEMI G AR 3 1 0 2448 0 GizEol
e mE 130 1 0 234 0 A xt
FEMI G th 21 1 0 831 0 GizEo]
FEMI G th 27 1 475 0 432 A xt
B Y ¥ 2 1 0 828 0 A xt
B Y L 140 1 324 306 180 A xt
B Y =) 0 1 0 0 0 GizEo]
E Y th 6 1 1320 0 405 izESH
HD A EmE 6266 10 3672 3564 1728 B>t
Z D th A Akl 58 1 497 475 384 B>t
Z D th A = 15 4 1 0 648 0 A xt
o333 —)L =1 10 10 0 2484 0 B>t
o333 —)L =1 900 10 2592 0 2484 B>t
5 C 7% 60 10 0 3780 0 HExt
5 C =7 261 10 4860 4860 3888 icESH
W5 =] 185 0.2 378 302 259 A xt
EEAOY = 45 9 12960 10800 9720 B>t
I—ro4 EmE 576 1 570 480 346 B>t
F—4 ZiE 22 1 870 630 630 A xt
INTF 24YJE 182 13 2484 0 2376 B>t
INADTYT 24)E 50 1 324 0 216 B xt
AL A —XE 51 1 445 0 413 B>t
LEY T A)H 17 1 0 496 0 B>t
ZDhEA A & TA)AH 1 1 11880 8640 8640 A xt
ZFOMDEE =] 6 1 0 295 0 icESH
i 4 Eih = BT =iE B =Z{E RFEXS
-UL\CA meE 3998 10 702 680 378 nk
fa = meE 40 3 0 907 0 irX
R meE 250 10 745 0 529 nk




~2k mE 208 4 951 0 950 Bk
FEYZE mE 5 1 3780 0 3564 Bk
HELL=IT = 20 0.1 0 65 0 Bk
FHhA mE 3348 10 3764 3764 3062 Bk
X B =0 860 1 270 248 194 Bk
Rh mE 285 1 194 140 86 Bk
Jatrd—)L a5 80 10 0 3564 0 Bk
W62 = 78 0.2 259 0 216 Bk
F—4 & 40 1 0 281 0 Bnik
fh EEHh e B =iE FiE =il RFEX R
HMA & 110 10 4104 1188 864 SEER
J\ ¥f =) 70 10 0 702 0 SEER
Ws2 & 75 0.2 454 217 186 ScER




